Karta techniczna -

FM-753 CRACK A4 [ SIMPSON |
Kotwa mechaniczna A4 StrongTie

Kotwy FM-735 crack charakieryzuje sie -
szybkoscig montazu | wysokg nosnoscig przy %
niewielkich odlegtosciach pomiedzy kotwiami | '
niewielkich odlegtosciach krawedziowych, =
Stosowane sg gtownie do mocowania w g
podtozach gtadkich i twardych 1, beton, zeloet itp. %
Kotwa przeznaczona jest do mocowania w g
zakresie Srednich obcigzen elementow konstrukaii =
budowlanych, elewad]i, barier, poreczy itd. Kotwa %
certyflkowana do zastosowan sejsmicznych C1 |
C2 przetestowana w warunkach pozgrowych
R120.

Nadaje sie do zastosown w betonie

M

Whasciwosci . &7

Materiat

o Stal nierdzewna A4

Zalety

» Szybkiego montazu w zarysowanym i
niezarysowanym betonie (opcj 1).

» Zoptymalizowany klips rozporowy gwarantuje
réwnomierny rozktad naprezehn umozliwiajgcy
stosowanie przy duzych obcigzeniach
dopuszczalnych

+ Mate odstepy osiowe do krawedzi w przypadku
niewielkich elementow budowlanych.

* Zwiekszona wytrzymatos¢ na rozcigganie i
scinanie.

Zastosowanie

Obszar zastosowan

Stosowane s gléwnie do mocowania w
podtozach gtadkich i twardych tj. beton, zelbet
itp. Kotwa przeznaczona jest do mocowania w
zakresie s$rednich obcigzen elementéw
konstrukcji budowlanych:

e Zamocowania konstrukcyjne
+ Konstrukcje stalowe
» Zastosowania sejsmiczne

Suitable for



Karta techniczna

FM-753 CRACK A4
Kotwa mechaniczna A4

Dane techniczne




Karta techniczna -

FM-753 CRACK A4 [ SIMPSON |
Kotwa mechaniczna A4

VWymiary produktu
Srednica | &
o Srednica
mggg&:?lggo Grubos¢ ogt‘:’ 0bruk[d(']]' otworu o]
x glebokosé g
mocowanego X glebokosé ;
elementu elementu Srednica My w [yl w Min. | Zredukowana

Product | WYMiaY | hreaq | [xmad P2V Bixmad P2V | otworu podiozu o syo dlebokose | glebokosé | aty

Referencie | peference| IMMI | jongtn | StANGArdowe ;o oanej | przelotowego | ZMniejszonej zmniejszonej kotwienia k?]tvwema per
[mm] glebokosci | "o\ oyosci | [0 [mm] | Stendardowej ‘ot Metsol | Metpenl | box
Kotwienia | S F oni glebokosci gl*(?mzi e%si: ' mm] [mm]
[hef,STD] et 7ol [mm] kotwienia et Rep]
[mm] ’ (et rep] [?ﬁm]
[mm]
FM-753
7535000806800 | CRACK | M8x68 30 4 18 9 8x70 8x56 48 34 100
A4
FM-753
7535000807500 | CRACK M8x75 30 10 24 9 8x70 8x56 48 34 100
A4
FM-753
7535000809000 CRACK M8x90 40 25 39 9 8x70 8x56 48 34 100
Ad
FM-753
7535000811500 | CRACK | M8x115 | 60 50 64 9 8x70 8x56 48 34 100
Ad
FM-753
7535000813500 | CRACK | M8x135 | 80 70 84 9 8x70 8x56 48 34 100
Ad
FM-753
7535000816500 | CRACK | M8x165 | 80 100 114 9 8x70 8x56 48 34 50
A4
FM-753
7535001009000 | CRACK | M10x90 | 40 10 30 12 10x80 10x60 60 40 50
A4
FM-753
7535001010500 | CRACK |M10x105| 55 25 45 12 10x80 10x60 60 40 50
Ad
FM-753
7535001011500 | CRACK |M10x115| 55 35 55 12 10x80 10x60 60 40 50
Ad
FM-753
7535001013500 | CRACK |M10x135| 85 55 75 12 10x80 10x60 60 40 50
Ad
FM-753
7535001015500 | CRACK |M10x155 | 85 75 95 12 10x80 10x60 60 40 50
A4
FM-753
7535001018500 | CRACK |M10x185| 85 105 125 12 10x80 10x60 60 40 25
Ad
FM-753
7535001211000 CRACK |M12x110 | 65 10 30 14 12x100 12x80 72 52 50
Ad
FM-753
7535001212000 | CRACK |M12x120 | 65 20 40 14 12x100 12x80 72 52 50
Ad
FM-753
7535001214500 | CRACK |M12x145 | 85 45 65 14 12x100 12x80 72 52 25



Karta techniczna -

N L D= 4
FM-753 CRACK A4 | SIMPSON |
- St Ti
Kotwa mechaniczna A4 .
Srednica o
‘s Srednica
Grubosé Grubosé otworu [dO] otworu [dg]
Taomenty | o0 YOI XSS rionana
. ) i 1 < 2
Referencje Product W{nTr:?]ry Thread Btfallm:r(]d:v% Mxmad P12V | otworu oo | POdIOZU 0 gli?)tt\’;l)it?]si: %*(?)tt\)l'\;lléﬁ: 33
Reference | iy length = okosci | Zedukowanej przelotowego ZPRAR TR | amniejszone] | ot el | pox
o | Qlebokosci | [o mm] | SIANCAVAOWE] | oy gypq Tl ST | FOHRED
o gtebokosci L [mm] [mm]
gt 1ol kotwienia kotwienia kotwienia
[enfiﬁu [het,sTpl [mm] Per o] [het pep]
wnl
FM-753
7535001217000 CRACK |M12x170 | 85 70 90 14 12x100 12x80 72 52 25
Ad
FM-753
7535001220000 CRACK | M12x200 85 100 120 14 12x100 12x80 72 52 25
Ad
FM-753
7535001613000 CRACK |M16x130 65 10 30 18 16x115 16x95 86 66 20
Ad
FM-753
7535001615000 CRACK | M16x150 85 30 50 18 16x115 16%95 86 66 20
Ad
FM-753
7535001618500  CRACK | M16x185 85 60 80 18 16x115 16x95 86 66 20
Ad
FM-753
7535001622000 CRACK | M16x220 85 100 120 18 16x115 16x95 86 66 15

A4



Karta techniczna -

5 | D= B4
FM-753 CRACK A4 [ SIMPSON |
- St T
Kotwa mechaniczna A4 e
Recommended loads / Non-cracked concrete / for single anchors / with no edge
distances or spacings
Recommended loads - Non-cracked concrete
. P miary [mm Tension - N Shear -V,
Referencje R e;g?:rf: o Wy [':1?“][ ] rec rec Bending moment
C20/25 | C30/37 | C40/50 | C50/60 | C20/25 | C30/37 | C40/50 | C50/60 Mygg INT]
[kN] [kN] [kN] [kN] [kN] [kN] [kN] [kN]
FM-753
7535000806800 [11T%3, Mgx68 48 | 59 | 68 | 74 | 78 | 78 | 78 | 78 105
7535000807500 [ M-753 M8X75 48 5.9 6.8 74 78 78 78 78 105
CRACK A4 : : : : : : : : :
7535000809000 [ M-753 M8xQ0 48 59 | 68 | 74 | 78 | 78 | 78 7.8 105
Ay . . . . . . . . .
7535000811500 | M-753 M8x115 48 | 59 | 68 | 74 | 78 | 78 | 78 | 78 105
ey, . . . . . . . . .
7535000813500 [ M-753 M8x135 48 5.9 6.8 74 78 78 78 7.8 105
CRACK A4 : : : : : : : : :
7535000816500 [ M-753 M8x165 48 59 | 68 | 74 | 78 | 78 | 78 7.8 105
A . . . . . . . . .
7535001009000 M-753 M10x90 76 | 93 | 107 | 118 | 134 | 134 | 134 | 134 215
ey, . . . . . . . . .
7535001010500 [ M-753 MI0x105 | 76 | 93 | 107 | 118 | 134 | 134 | 134 | 134 215
CRACK A4 : : : : : : : : :
7535001011500 M-753 M10x115 76 | 93 | 107 | 118 | 134 | 134 | 134 | 134 215
Ay . . . . . . . . .
7535001013500 | M-753 MI0X135 | 76 | 93 | 107 | 118 | 134 | 134 | 134 | 134 215
s, . . . . . . . . .
7535001015500 M-753 MI0x155 | 76 | 93 | 107 | 118 | 134 | 134 | 134 | 134 215
CRACK A4 : : : : : : : : :
7535001018500 [ M-753 M10x185 76 93 | 107 | 118 | 134 | 134 | 134 | 134 215
A . . . . . . . . .
7535001211000 TM-753 Mi2x110 | 105 | 128 | 148 | 163 | 173 | 173 | 173 | 173 374
s, . . . . . . . . .
7535001212000 M-753 Mi2x120 | 105 | 128 | 148 | 163 | 173 | 173 | 173 | 173 37.4
CRACK A4 : : : : : : : : :
7535001214500  M-753 Mi2x145 | 105 | 128 | 148 | 163 | 173 | 173 | 173 | 173 37.4
A . . . . . . . . .
7535001217000 M-753 Mi2x170 | 105 | 128 | 148 | 163 | 173 | 173 | 173 | 173 374
s, . . . . . . . . .
7535001220000 M-753 M12x200 | 105 | 128 | 148 | 163 | 173 | 173 | 173 | 173 37.4
CRACK A4 : : : : : : : : :
7535001613000 M-753 M16x130 | 187 | 228 | 264 | 29 | 349 | 349 | 349 | 349 94.9
CRACK A4 : : : : : : : :
7535001615000 M-753 Mi6x150 | 187 | 228 | 264 | 290 | 349 | 349 | 349 | 349 94.9
Ay . . . . . . . .
7535001618500 | [ M-753 Mi6x185 | 187 | 228 | 264 | 29 | 349 | 349 | 349 | 349 94.9
CRACK A4 : : : : : : : :
7535001622000 [ M-753 M16x220 | 187 | 228 | 264 | 29 | 349 | 349 | 349 | 349 94.9

CRACK A4



Karta techniczna -

FM-753 CRACK A4 | SIMPSON |

. StrongTi
Kotwa mechaniczna A4 ek
Recommended loads - Non-cracked concrete
Referencie R:;gg:::e Wym[iranrryn ][mm] Tension - Nyg¢ Shear - Vigc Bending moment
C20/25 | C30/37 | C40/50 | C50/60 | C20/25 | C30/37 | C40/50 | C50/60 Myge INM]

kN] | [kN] | [kN] | [kN] | [KN] | [kN] [kN] [kN]

1) In case of interaction of tension and shear loads (lever arm) as well as in case of anchor groups and/or edge
influence, a design according to EN 1992-4 (seismic actions - Annex C / fire action

- Annex D) shall be carried out taking into account the entire European Technical Assessment ETA-10/0293.
2) The load data take into account the partial safety factors of the resistances given in the European Technical
Assessment (ETA) and a partial safety factor of the actions

of yF = 1.4. The values given assume unreinforced or normally reinforced concrete with a spacing of the
reinforcingbarss >15cmors>=10cmat a

rebar diameter ds < 10 mm is assumed.



Karta techniczna -

S:DEF
FM-753 CRACK A4 | SIMPSON |
Kotwa mechaniczna A4 Seemetle
Design capacities - single anchor - no edge distances - Uncracked concrete
Design capacity - Non-cracked concrete (3)
Referencje RZ;:?:::& Wym[i;rx"][mm] Tension - Npg (1) Shear - Vg (1-2) Bending moment
C20/25 | C30/37 | C40/50 | C50/60 | C20/25 | C30/37 | C40/50 | C50/60 MRd [Nm]
[kN] [kN] [kN] [kN] [kN] [kN] [kN] [kN]
7535000806800 [1T%3 | Mex6s 6.7 : : : 10.9 - - - -
7535000807500 C@/ﬂ&% M8x75 6.7 . . . 10.9 - - - -
7535000809000 c%ﬁ | MBx90 6.7 . . - 10.9 - - - -
7535000811500 7% | Mexi1s 6.7 . . . 10.9 - - - -
7535000813500 cm&% M8x135 6.7 . : : 10.9 - - - -
7535000816500 ci“ﬁiﬁ M8x165 6.7 . . - 10.9 - - - -
7535001000000 IO 1 Miowo | 107 | - : : 18.8 - - - -
7535001010500 C';'X;f’:‘t M10x105 | 107 - - - 18.8 - - - -
7535001011500 Cmgf’g , | Wioxtis | 107 . . - 18.8 - - - -
7535001013500 I%S 1 moxias | 107 | - : . 18.8 - - - -
7535001015500 IO | mtoxiss | 107 | - : : 18.8 - - ; -
7535001018500 CE'X&E’:L‘ M10x185 | 107 . . . 18.8 - - - -
7535001211000 Cmgfi , | Miat0 | 147 - - - 24.2 - - - -
7535001212000 C';'X;f& M12x120 | 147 - . . 24.2 - - - -
7535001214500 cmg(% Mi2x145 | 147 . . . 24.2 - - - -
7535001217000 02%61524 MI2K170 | 147 - - . 24.2 - - - -
7535001220000 IO w00 | 147 | - : : 242 - - - -
7535001613000 &“ﬁéﬁ M16x130 | 26.1 . . . 48 - - - -
7535001615000 CE“;’\'&% M16x150 | 26.1 . : : 48 - - - -
7535001618500 U703 | Miexies | 261 . . . 48 - - - -
7535001622000 T M-753 | yqgxa0 | 2611 . . . 48 - - - -

CRACK A4



Karta techniczna -

FM-753 CRACK A4 | SIMPSON |

. StrongTi
Kotwa mechaniczna A4 e
Design capacity - Non-cracked concrete (3)
Reference R:;gg:::e Wym[iranrryn ][mm] Tension - Ngq (1) Shear - Vgq (1-2) Bending moment
C20/25 | C30/37 | C40/50 | C50/60 | C20/25 | G30/37 | C40/50 | C50/60 MRd [Nm]

N] | [kN] | [kN] | [kN] | [KN] [kN] [kN] [kN]

1. The design loads loads have been calculated using the partial safety factors for resistances stated in ETA-
approval(s). The loading figures are valid for unreinforced concrete and reinforced concrete with a rebar
spacing s = 15 cm (any diameter) or with a rebar spacing s = 10 cm, if the rebar diameter is 10mm or smaller.
2. The figures for shear are based on a single anchor without influence of concrete edges. For anchorages
close to edges (c < max [10 hef; 60d]) the concrete edge failure shall be checked per ETAG 001, Annex C,
design method A.

3. Concrete is considered non-cracked when the tensile stress within the concrete is\sigmaL +\sigmaR < 0. In
the absence of detailed verification\sigmaR = 3 N/mm?2 can be assumed (\sigmal equals the tensile stress
within the concrete induced by external loads, anchors loads included).



Karta techniczna -

5 | D= B4
FM-753 CRACK A4 | SIMPSON |
- St T
Kotwa mechaniczna A4 o
Recommended loads - Cracked concrete - single anchor - no edge distances
Recommended loads - Cracked concrete
. P miary [mm Tension - N Shear -V,
Referencie | okt | Wmian [l rec rec Bending moment
C20/25 | C30/37 | C40/50 | C50/60 | C20/25 | C30/37 | C40/50 | C50/60 Mygg TN
[kN] [kN] [kN] [kN] [kN] [kN] [kN] [kN]
FM-753
7535000806800 [17%3, M8x68 3.1 38 | 44 | 48 | 54 | 54 | 54 | 54 105
7535000807500 [ M-753 M8X75 3.1 3.8 44 48 5.4 5.4 5.4 5.4 105
CRACK A4 : : : : : : : : :
7535000800000 [ M-753 M8xQ0 3.1 3.8 44 48 5.4 5.4 5.4 5.4 105
a3 . . . . . . . . .
7535000811500 | M-753 M8x115 3.1 38 | 44 | 48 | 54 | 54 | 54 5.4 105
e . . . . . . . . .
7535000813500 M-753 M8x135 31 38 44 48 5.4 5.4 5.4 5.4 105
CRACK A4 : : : : : : : : :
7535000816500 [ M-753 M8x165 3.1 38 44 48 5.4 5.4 5.4 5.4 105
nT53 . . . . . . . . .
7535001009000 M-753 M10x90 48 | 59 | 68 | 74 | 134 | 134 | 134 | 134 215
e . . . . . . . . .
7535001010500 | T M-753 M10x105 | 48 | 59 | 68 | 74 | 134 | 134 | 134 | 134 215
CRACK A4 : : : : : : : : :
7535001011500 M-753 M10x115 48 5.9 6.8 74 | 134 | 134 | 134 | 134 215
oarss . . . . . . . . .
7535001013500 | M-753 MI0x135 | 48 | 59 | 68 | 74 | 134 | 134 | 134 | 134 215
nrss, . . . . . . . . .
7535001015500 | M-753 MI0xI55 | 48 | 59 | 68 | 74 | 134 | 134 | 134 | 134 215
CRACK A4 : : : : : : : : :
7535001018500 [ M-753 M10x185 48 5.9 6.8 74 | 134 | 134 | 134 | 134 215
CRACK A4 : : : : : : : : :
7535001211000 TM-753 M12x110 6.2 76 8.7 96 | 173 | 173 | 173 | 173 37.4
a3 . . . . . . . . .
7535001212000 M-753 M12x120 6.2 76 8.7 96 | 173 | 173 | 173 | 173 37.4
CRACK A4 : : : : : : : : :
7535001214500  M-753 M12x145 6.2 756 8.7 96 | 173 | 173 | 173 | 173 37.4
CRACK A4 : : : : : : : : :
7535001217000 M-753 M12x170 6.2 76 8.7 96 | 173 | 173 | 173 | 173 374
T3 . . . . . . . . .
7535001220000 M-753 M12x200 6.2 76 8.7 96 | 173 | 173 | 173 | 173 374
s . . . . . . . . .
7535001613000 | TM-753 M16x130 | 124 | 151 | 175 | 192 | 262 | 262 | 262 | 262 94.9
CRACK A4 : : : : : : : : :
7535001615000 M-753 Mi6x150 | 124 | 151 | 175 | 192 | 262 | 262 | 262 | 262 94.9
a3 . . . . . . . . .
7535001618500 | M-753 Mi6x185 | 124 | 151 | 175 | 192 | 262 | 262 | 262 | 262 94.9
e . . . . . . . . .
7535001622000 TM-753 M16x220 | 124 | 151 | 175 | 192 | 262 | 262 | 262 | 262 94.9
CRACK A4 ' : : : : : : : :

1) In case of interaction of tension and shear loads (lever arm) as well as in case of anchor groups and/or edge
influence, a design according to EN 1992-4 (seismic actions - Annex C / fire action

- Annex D) shall be carried out taking into account the entire European Technical Assessment ETA-10/0293.
2) The load data take into account the partial safety factors of the resistances given in the European Technical
Assessment (ETA) and a partial safety factor of the actions

of yF = 1.4. The values given assume unreinforced or normally reinforced concrete with a spacing of the
reinforcingbarss=15cmors>=10cmata

rebar diameter ds < 10 mm is assumed.



Karta techniczna

FM-753 CRACK A4
Kotwa mechaniczna A4




Karta techniczna

FM-753 CRACK A4
Kotwa mechaniczna A4

Montaz
i 0
ST [ g CE
1] 2] k 3] 0

1




Karta techniczna -

FM-753 CRACK A4 [ SIMPSON |
Kotwa mechaniczna A4

Installation data

Product Wymiary | 0 drilling Min. drill @ drilling Wrench size Installation Embedment Min. support
Reference [mm] hole [d0] depth [h1] fixture [df] [SW] [mm] torque [Tinst] depth [hef] thickness [hmin]
[mm] [mm] [mm] [mm] [Nm] [mm] [mm]

Referencje

FM-753
7535000806800  CRACK | M8x68 8 70 9 13 20 48 100
A4

FM-753
7535000807500 | CRACK | M8x75 8 70 9 13 20 48 100
A4

FM-753
7535000809000 | CRACK | M8x90 8 70 9 13 20 48 100
A4

FM-753
7535000811500 CRACK | M8x115 8 70 9 13 20 48 100
Ad

FM-753
7535000813500 CRACK | M8x135 8 70 9 13 20 48 100
A4

FM-753
7535000816500 | CRACK | M8x165 8 70 9 13 20 48 100
A4

FM-753
7535001009000 = CRACK | M10x90 10 80 12 17 40 60 120
A4

FM-753
7535001010500 | CRACK | M10x105 10 80 12 17 40 60 120
A4

FM-753
7535001011500  CRACK | M10x115 10 80 12 17 40 60 120
Ad

FM-753
7535001013500 | CRACK | M10x135 10 80 12 17 40 60 120
Ad

FM-753
7535001015500 | CRACK | M10x155 10 80 12 17 40 60 120
A4

FM-753
7535001018500 | CRACK | M10x185 10 80 12 17 40 60 120
A4

FM-753
7535001211000 | CRACK | M12x110 12 100 14 19 60 72 150
A4

FM-753
7535001212000 CRACK | M12x120 12 100 14 19 60 72 150
Ad

FM-753
7535001214500 CRACK | M12x145 12 100 14 19 60 72 150
Ad

FM-753
7535001217000 | CRACK | M12x170 12 100 14 19 60 72 150
A4

FM-753
7535001220000 | CRACK | M12x200 12 100 14 19 60 72 150
A4

FM-753
7535001613000 | CRACK | M16x130 16 115 18 24 120 86 170
A4

FM-753
7535001615000 CRACK | M16x150 16 115 18 24 120 86 170
Ad



Karta techniczna -

FM-753 CRACK A4 [ SIMPSON |
Kotwa mechaniczna A4

Product Wymiary | 0 drilling Min. drill 0 drilling Installation Embedment Min. support

Wrench size

Referencje [mm] hole [d0] depth [h1] fixture [df] torque [Tinst] depth [hef] thickness [hmin]
Reference  immi [mm] [mm] mm | SWImm] [Nm] [mm] [mm]
FM-753

7535001618500 | CRACK | M16x185 16 115 18 24 120 86 170
A4
FM-753

7535001622000 CRACK | M16x220 16 115 18 24 120 86 170
A4

Spacings and edge distances

Referencje Product Wymiary Min. edge distance Min. spacing Characteristic edge distance | Characteristic spacing(5) - Scr,N

Reference [mm] [mm] [Cmin] [mm] [Smiﬂ] [mm] [CCT,N] [mm] [SGT,N] [mm]
7535000806800 CFR'\:E)Z(S& M8x68 50 50 72 144
7535000807500 | 020 | MBx7s 50 50 72 144
7535000809000 C;“ﬁ"&f’& M8x90 50 50 72 144
7535000811500 C':R"A"\(':ffg‘l M8x115 50 50 72 144
7535000813500 020 | MBx135 50 50 72 144
7535000816500 02%6?524 M8x165 50 50 72 144
7535001009000 CFR'XE)Z(5§4 M10x90 50 55 90 180
7535001010500 | %% | M10x105 50 55 90 180
7535001011500 02%61524 M10x115 50 55 90 180
7535001013500 C;’)"dfgll M10x135 50 55 90 180
7535001015500 425 | M10x155 50 55 90 180
7535001018500 Cmgfil M10x185 50 55 90 180
7535001211000 Cm;(51§4 M12x110 60 60 108 216
7535001212000 CE“A"\&S& M12x120 60 60 108 216
7535001214500 435 | M12x145 60 60 108 216
7535001217000 CI;,\AII\;(5/§4 M12x170 60 60 108 216
7535001220000 C';"A"\&Sg‘l M12x200 60 60 108 216
7535001613000 | 158 | M16x130 70 70 129 258
7535001615000 C’;"A"\gf& M16x150 70 70 129 258
7535001618500 CFR“A"&S& M16x185 70 70 129 258
7535001622000 M-753 1 yq6x000 70 70 129 258

CRACK A4



Karta techniczna -

FM-753 CRACK A4 [ SIMPSON |
Kotwa mechaniczna A4

FM-753 CRACK A4 r
Kotwa mechaniczna A4 f_.'

2025-07-16 StrongTie

Copyright by Simpson Strong-Tie®


https://pim.strongtie.eu/api/v1/products/pl/pl/pdf-sheet/1698/sheet

